PLB-2642 PLUS

LCD/LED/PLASMA slim wall mount
Supporto sottile per monitor LCD/LED/PLASMA

VESA
finoa/upto

400x400

PO e

dal muro
from wall

Garanzia

Questo prodotto € coperto da garanzia per 24 mesi dalla data di acquisto
contro difetti di produzione. Tutti i danni causati da altre motivazioni non sono
coperti da garanzia. Il documento di garanzia deve essere presentato insieme
al prodotto da riparare coperto da garanzia. Lacquirente é responsabile di
ogni costo di spedizione.

Si raccomanda di eseguire i fori nella parete della profondita e diametro
prescritti, rimuovere poi, dai fori stessi, polvere e detriti.

| tasselli forniti sono adatti alla piu vasta tipologia di pareti, prima di montare il
supporto verificate comunque l'idoneita alla parete su cui volete applicare il
prodotto, in caso di dubbi vi consigliamo di rivolgervi ad un installatore o ad
un rivenditore qualificato.

Attenersi alle istruzioni di assemblaggio del manuale d'istruzione.

Si declina qualsiasi responsabilita in caso di mancata osservanza di queste
istruzioni, delle limitazioni d'uso o per modifiche apportate al supporto.

Le viti in dotazione per fissare la TV al supporto sono adatte alla maggior parte
delle TV presenti sul mercato, ma potrebbero non andare bene per il vostro.
Verificate che diametro, passo e lunghezza delle viti siano adeguate al Vostro
TV, in caso contrario acquistatene delle nuove.

Il supporto non & idoneo ad ambienti esterni.

Warranty

This product is covered by a 24 months guarantee from the date of purchase
against any manufacturing defects. Any damage caused by other reasons is
not covered. A purchase document must be presented together with the
request for repair under guarantee. The customer is responsible for all
shipping costs.

Drill the holes in the wall with the depth and diameter recommended, then
clear them of dust and debris.

The plugs supplied suit a wide range of wall types; however before mounting
the stand make sure they are suitable for the wall where you want to apply the
product; in case of doubt you are advised to contact an installer or a qualified
dealer.

Follow the assembly instructions in the instruction manual.

We accept no responsibility if these instructions or the use restrictions are not
complied with, or if changes are made to the stand.

The screws supplied for fixing the TV set to the stand suit most TV sets
available on the market but they might not be right for yours.

Make sure that the diameter, pitch and length of the screws are adequate for
your TV set; if they are not, you need to buy new ones.

The stand is not suited for outdoor installation.

Garantie

Ce produit est accompagné d'une garantie de 24 mois a partir de la date
d’achat couvrant tout vice de fabrication. Tout dommage dérivant d'autres
causes est exclu. Un document d'achat devra étre fourni a I'appui de toute
demande de réparation en garantie. Les frais de transport sont a la charge du
client.

Il est recommandé de percer les trous au mur selon la profondeur et le
diameétre préconisés, puis de les nettoyer de toute poussiére et détritus.

Les chevilles fournies conviennent pour la plupart des murs, il est cependant
conseillé de vérifier la qualité du mur avant d'y appliquer le produit ; en cas
de doute, consultez un installateur ou un revendeur qualifié.

Suivez les instructions d'assemblage contenues dans la notice d'emploi.
Aucune responsabilité ne sera assurée en cas de non-respect de ces
instructions, des limitations d'emploi ou en cas de modifications apportées
au produit.

Les vis fournies pour fixer le téléviseur conviennent pour la plupart des
modeles commercialisés, mais elles pourraient ne pas étre adaptées au votre.
Vérifiez que le diamétre, le pas et la longueur des vis conviennent a votre
téléviseur ; en cas contraire, procurez-vous de nouvelles vis.

Le support n'est pas prévu pour étre utilisé a I'extérieur.

Garantie

Dieses Produkt wird von einer 24-monatigen Garantie ab dem Kaufdatum
hinsichtlich Herstellungsméngeln gedeckt. Alle aus anderen Griinden
hervorgerufenen Schaden sind nicht gedeckt. Bei einer Reparatur im Rahmen
der Garantie ist ein Kaufbeleg zusammen mit dem Reparaturauftrag
vorzulegen. Alle Versandkosten gehen zu Lasten des Kunden.

Es wird geraten, die Bohrungen in der Wand mit den vorgeschriebenen
Werten fiir Tiefe und Durchmesser auszufiihren, sowie dann aus diesen
Bohrungen Staub und Schutt zu entfernen.

Die gelieferten Duibel eignen sich fiir eine breite Vielfalt von Wanden. Priifen
Sie jedoch vor Montage der Halterung in jedem Falle die Eignung fiir die
Wand, an der das Produkt angebracht werden soll. Im Falle von Zweifeln
raten wir, sich an einen Installateur oder Fachhandler zu wenden.

Beachten Sie die Montageanleitung in der Gebrauchsanweisung.

Im Falle einer Nichtbeachtung dieser Anweisungen, der Einsatzgrenzen oder
an der Halterung vorgenommenen Anderungen wird jegliche Haftung
abgelehnt.

Die beiliegenden Schrauben zur Befestigung des Fernsehers an der
Halterung eignen sich fiir den Grof3teil der auf dem Markt erhéltlichen
Fernseher, konnten aber unter Umstanden fir lhr Geréat nicht passen.

Prufen Sie, ob Durchmesser, Gewindesteigung und Léange der Schrauben fir
Ihren Fernseher geeignet sind. Erwerben Sie anderenfalls neue Schrauben.
Die Halterung ist nicht zur Installation in AuBenbereichen geeignet.

To mapdv mpoidv KAAUTITETAL amd €yyUnon 24 unvwv anod TV NUEPOUNvia
aAyopAg Tou évavTl KAOE KATAOKEVAOTIKOU eAaTTwpatoq. Kabe {nuia mou
TPOKaAeiTal amd dANo Adyo Sev KaAUTTTETAL. Oa TPETTEL VA TIPOOKOUIOTEL éva
£yypago ayopdc padi pe tnv aitnon emMoKeVAC 0Ta MAdiola TnG yyunong. O
meAdtng empPapuveTal yia 6Aa ta €§06a amooToANG.

Yuviotdtal va avoi€Tte TPUTIEG e TO amaIToupevo BABog katl SIAUETpo oTov
TOiX0. 3TN CUVEXELQ, AQAIPECTE Ao TIC TPUTIEG TN oKAVN Kal Ta Katdhoura.

Ol mapexopevol meipol mpooappolovtal og €va oAU eupl @dacua Toixwv. Mpv
amnd TN CLVAPHOAGYNON TOL OTNPIYHATOG WOTO0O, EMPERAWOTE TNV
KATAANNASTNTA TOU TO{XOU OTTOU BEAETE VA EQPAPUOCETE TO TIPOIOV. X €
miepimTwon apiBohiac Ba mpémel va aneubuvOeite o e€€1SIKELPEVO
EYKATAOTATN 1| LETATTWANTH.

AKONOUBROTE TIG 08NnYieC CLUVAPUOAOYNONG TOU EYXELPISIOU 0ONYIWV.

Aev @€poupE Kapia euBUVN O€ TEPIMTWON AMOTUYXIAG VA AKOAOUONOETE QUTEG
TIG 08nyieg, Tou TIEPLOPIOHOL XPHONG 1 AANAYWY GTO GTAPLYHA.

O1 Bideg mou mepihapdvovTal yla Tn oTEPEWON TNG TNAEOPAOCNE OTO OTHPIYUA
€ival KATAANNAEG Y10 TIG TIEPIOCOTEPEG TNAEOPATELG TNG AYOPAS, AANG UTTAPXEL
mepimTwon va unv tatptdlouv otn SIKn oac.

EAéy€te OTL N SIAPETPOC, TO UYOE KAl TO PAKOG TwV BIOWV gival KATAMNAA yia
NV TNAEOPAOT) 600G, AANWG AYOPAOTE AANEG.

Ta otrptypa dev gival KaTdAnAo yla Xprion o€ eEWTEPIKOUE XWPOUG.

Garantia

Este producto esta cubierto por una garantia de 24 meses a partir de la fecha
de compra frente a cualquier defecto de fabricacién. Cualquier dafno causado
por otro motivo no estd cubierto. Debe presentarse un documento de
compra junto con la solicitud de reparacion en garantia. Todos los gastos de
envio corren por cuenta del cliente.

Se recomienda practicar los agujeros en la pared con la profundidad y el
didmetro prescritos, quitar seguidamente, de los agujeros mismos, el polvo y
los detritos.

Los tacos que se suministran son adecuados para el mas amplio tipo de
paredes, antes de montar el soporte verificar en cualquier caso que son
adecuados para la pared en la que se quiere aplicar el producto, en caso de
duda le aconsejamos que se dirija a un instalador o a un vendedor cualifica-
do. Atenerse a las instrucciones de montaje del manual de instrucciones.

Se declina cualquier responsabilidad en caso de falta de observancia de estas
instrucciones, de las limitaciones de uso o debido a modificaciones
aportadas al soporte.

Los tornillos que se suministran para fijar la TV al soporte son adecuados para
la mayor parte de las TV que se encuentran en el mercado, pero podrian no
ser los adecuados para la de usted.

Compruebe que el didmetro, el paso y la longitud de los tornillos son los
adecuados para su TV, en caso contrario compre otros nuevos.

El soporte no es idoneo para ambientes externos.

lapaHTua

[laHHOe n3aenme NOKpbIBaeTCA rapaHTMeN, KOTopasa PacnpoCTPaHALTCA Ha
NpoV3BOACTBEHHbIE flepeKTbl 1 JeICTBYET B TeueHne 24 MecALeB OT JaTbl
npuobpeTeHus. Jliobble NOBPeXAEHNS, BbI3BaHHbIE UHBIMU MPUYMHAMY,
rapaHTVien He NoKpbiBatoTCA. B cnyyae nofaum 3aaBKy Ha NnpoBeaeHne
pemoHTa B pamKax rapaHTuv ot Bac notpebyeTca npefocTaBUTb JOKYMEHT,
nopTBEPKAAIOLWMIA MOKYNKy. Bce pacxofbl Ha nepecbinKy MaTepranos
OMaynBaloTCA KIMEHTOM.

PekomeHpayeTcA NpocBepnTb B CTEHE OTBEPCTUA HEOOXOANMBIX AnameTpa 1
rny6VHbI, @ 3aTeM OUMCTUTb KX OT MbIIN 1 MyCOpa.

MocTaBnsemble HakNagKy MOAXOAAT A4S CAMbIX PA3fIMYHbIX TUMOB CTEH,
OAHAKO MpeX/e YeM BbIMNOHATb MOHTaX NOACTABKY, NPOBEPbLTE, NOAXOAAT NN
N3[enus Ans CTeHbl, Ha KOTOPOI Bbl XOTUTE YCTAHOBUTb NMOACTABKY, U eCNin Y
BaC BO3HUKIM COMHEHWA, 06paTUTeCh K CreumanmcTy no ycTaHoBKe nim
KBanMoMLMpoBaHHOMY aunepy.

CnepyiiTe UHCTPYKLIMAM MO MOHTaXYy, 13/10)KEHHbBIM B CPaBOYHOM
pyKOBOACTBE.

Mbl He Hecem OTBETCTBEHHOCTM B Cllyyae HecobMoaeHNsA STUX MHCTPYKLUWIA,
OrpaHVNYeHUiA B UCMOMb30BaHNMN UM U3MEHEHWIA KOHCTPYKLIMMN MOACTABKM.
MocTaBnsemble B KOMMEKTe BUHTbI /1A KPerneHWs TeneBn3opa K nogcraBke
noaxomAT Ana 60MbLUNHCTBA UMEIOLKXCA B NMPOJAXKe TeIeBU30POB, HO MOTYT
He MNoAONTM ANA BalLero TeNeBM3opa.

Y6eputech, uTo AMameTp, War 1 AJIMHA BYUHTOB NOAXOAAT A/ BaLLlero
TeNeB130pa; B MPOTVBHOM CJlyyae KynuTe HOBble.

MopcTtaBKa He MpeAHa3HayeHa As UCMNOoNb30BaHKA BHE MOMELLEHUIA.

Garantia

Este produto é coberto por uma garantia de 24 meses, apds a data de
compra, contra defeitos de fabricagdo. Qualquer dano provocado por outras
causas ndo é coberto. Juntamente com o pedido de reparacdo em garantia é
necessario apresentar o documento de compra. O cliente é responsavel por
todos os custos de expedicéo.

Recomenda-se efetuar os furos na parede respeitando a profundidade e o
diametro prescritos; em seguida remover destes furos p6 e detritos.

Os calgos fornecidos sdao adequados para a mais ampla tipologia de paredes;
antes de montar o suporte verificar, em todo caso, a idoneidade da parede a
qual se deseja aplicar o produto; no caso de duvidas aconselhamos dirigir-se
a um instalador ou a um revendedor qualificado.

Observar as instru¢des de montagem referidas no manual de instrugoes.
Declina-se qualquer responsabilidade no caso de ndo observancia destas
instrugdes, das limitagdes de uso ou no caso de modificagbes efetuadas no
suporte.

Os parafusos fornecidos para fixar a TV no suporte sdo adequadas a maior
parte das TV presentes no mercado mas poderiam nao servir para a sua.
Verificar que o diametro, passo e comprimento dos parafusos seja adequado
asuaTV, caso contrario comprar novos parafusos.

O suporte nao é idoneo para ambientes externos.

Garantie

Acest produs este acoperit de o garantie de 24 luni de la data achizitiei,
impotriva oricaror defecte de fabricatie. Defectele de orice tip cauzate de alte
motive nu sunt acoperite. Impreuna cu solicitarea de reparare in garantie
trebuie prezentat un document de achizitie. Clientul va suporta toate costurile
de expediere.

Se recomanda sa se execute in perete gduri cu adancimea si diametrul
prescrise, apoi sa se indeparteze praful si resturile din acestea.

Diblurile din livrare se potrivesc cu cea mai larga gama de tipuri de pereti, in
caz de dubii, va recomanddm sd va adresati unui instalator sau unui dealer
autorizat.

Respectati instructiunile de asamblare din manualul de instructiuni.

Ne declinam orice raspundere in cazul nerespectarii acestor instructiuni, a
limitelor de utilizare sau pentru modificarile aduse suportului.

Suruburile din dotare pentru fixarea suportului de televizor se potrivesc cu cea
mai mare parte dintre televizoarele existente pe piatd, dar, unele s-ar putea sa
nu fie bune pentru televizorul dvs.

Verificati daca diametrul, pasul si lungimea suruburilor sunt cele potrivite
pentru televizorul dvs., in caz contrar cumparati altele noi.

Suportul nu este adecvat pentru utilizarea in aer liber.

Eyyunon

Gwarancja

Niniejszy produkt objety jest 24-miesieczng gwarancjg, liczac od daty zakupu,
obejmujaca wszelkie wady produkcyjne. Gwarancja nie obejmuje
jakichkolwiek uszkodzen z innych powoddw. Proszac o dokonanie naprawy
gwarancyjnej, nalezy przedtozy¢ dowdd zakupu. Wszelkie koszty wysytki
spoczywaja na kliencie.

Zaleca sie wykonac w $cianie otwory o podanej gtebokosci i Srednicy, a
nastepnie usunac z nich pyt i zanieczyszczenia.

Dotgczone do dostawy kotki rozporowe przeznaczone sa do réznego rodzaju
scian. Jednakze przed zamontowaniem wspornika nalezy sprawdzi¢, czy dany
kotek jest przystosowany do danego rodzaju $ciany, do ktérej ma zostac
przymocowany wyréb. W przypadku watpliwosci zwrécic sie o porade do
montazysty lub sprzedawcy.

Stosowac sie do zalecen dotyczacych montazu, podanych w zataczonej
instrukgji.

Producent nie ponosi zadnej odpowiedzialnosci z tytutu braku stosowania sie
do powyzszych zalecen, ograniczen zastosowania lub dokonanych we
wsporniku modyfikacji.

Dotaczone sruby, przeznaczone do mocowania TV do wspornika, mozna
stosowac w odniesieniu do wiekszosci dostepnych na rynku odbiornikéw
telewizyjnych. Moze jednak sie zdarzy¢, ze nie bedg pasowac do posiadanego
przez Panstwa typu telewizora.

Sprawdzi¢, czy srednica, skok oraz dtugosc¢ srub sa kompatybilne z Paristwa
odbiornikiem telewizyjnym. W przypadku niezgodnosci nalezy zaopatrzy¢ sie
w inny rodzaj srub.

Wspornik nie jest przeznaczony do montowania na zewnatrz pomieszczen.

Garanti

Denna produkt omfattas av en 24 mdnaders garanti fran inkdpsdatum mot
eventuella fabrikationsfel. Eventuella skador som orsakats av andra skal
omfattas inte. Ett kopdokument maste presenteras tillsammans med en
begdran om reparation under garantiperioden. Kunden ansvarar for alla
fraktkostnader.

Det rekommenderas att borra halen i viggen med det foreskrivna djupet och
diametern, avlagsna sedan damm och skrap fran halen.

De medféljande pluggarna ar lampliga for de flesta vaggtyperna, men innan
du monterar stoden kontrollera vaggens lamplighet pa vilken du vill montera
produkten, om du ar osdker bor du kontakta en installator eller kvalificerad
aterforsaljare.

F6lj monteringsanvisningarna i bruksanvisningen.

Man fransager sig allt ansvar ifall av underlatenhet att folja dessa instruktioner,
for anvandnings begransningar eller andringar som gjorts pa stodet.

De medféljande skruvarna for att fasta TV:n passar de flesta TV-apparater pa
marknaden, men de kanske inte passar din.

Kontrollera att diametern, skruvarnas steglangd &r passande for din
TV-apparat, om inte kop nya. Stodet ar inte lampligt for utemiljoer.

Jotallast

A vasarlastdl szamitott 2 éves jotallast vallalunk minden gyartasi hibara. A
jotallas nem vonatkozik az egyéb okok miatt bekdvetkezett
meghibdsodasokra. A jotallasi idészakban a javitast a vasarlast igazolo
bizonylat mellékelésével kell kérvényezni. A szallitasi koltségek a vasarlot
terhelik.

A falba furjon az el6irtaknak megfelel6 mélységd és atméroju lyukakat, majd
tisztitsa meg azokat a portdl és a tormeléktol.

A csomagban talalhato tiplik a legtobb faltipushoz megfeleléek, de miel6tt
felszerelné a konzolt, gy6z6djon meg a fal alkalmassagarol, kétség esetén
javasoljuk, hogy forduljon szakemberhez vagy a viszonteladéhoz.

Kovesse a hasznélati Gtmutatdban taldlhato 6sszeszerelési utasitasokat!
Nem vallalunk semmiféle felelésséget az alabbi utasitasok be nem tartésa, a
felhasznalasi korlatozasok, illetve a konzol médositasa esetén.

A mellékelt csavarok alkalmasak a piacon felelhetd televizidkésziilékek
legtobbjének a konzolhoz valé rogzitésére, de nem biztos, hogy az 6n
késziilékéhez is megfelel6ek.

Ellendrizze, hogy a csavarok atmérdje, menete és hossza megfelel-e az 6n
készlléke rogzitéséhez, ha nem szerezzen be megfelel6 csavarokat.

A konzol nem alkalmas kuiltéri hasznalatra.

Garantie

Dit product wordt gedekt door een garantie van 24 maanden, die ingaat op
de datum van aankoop, tegen fabricagedefecten. Alle schade die door andere
redenen veroorzaakt wordt, wordt niet gedekt. Er dient een aankoopbewijs
overlegd te worden, samen met het verzoek om reparatie onder garantie. De
klant is verantwoordelijk voor alle verzendkosten.

Er wordt geadviseerd om de gaten in de muur uit te voeren met de voorge-
schreven diepte en diameter en om vervolgens stof en puin uit de gaten weg
te nemen.

De bijgeleverde pluggen zijn geschikt voor het absolute merendeel van de
muren. Alvorens de houder te monteren dient u hoe dan ook de geschiktheid
van de muur waarop het product wordt aangebracht te controleren. Wend u
in geval van twijfel tot een installateur of een gekwalificeerd verkoper.

Neem de instructies in acht die in de handelding met instructies staan.

Men stelt zich op generlei wijze aansprakelijk in geval van veronachtzaming
van deze instructies, van de gebruiksbeperkingen of voor wijzigingen die op
de houder aangebracht worden.

De bijgeleverde schroeven voor de bevestiging van de TV op de houder zijn
geschikt voor het merendeel van de TV's die in de handel verkrijgbaar zijn
maar het kan zijn dat ze niet geschikt zijn voor uw TV.

Controleer of de diameter, de spoed en de lengte van de schroeven geschikt is
voor uw TV. Is dat niet het geval, koop dan nieuwe.

De houder is niet geschikt voor ruimtes in de openlucht.

GBS Elettronica

Via delle Valli, snc- 04011 Aprilia (LT) - Italy
tel. +39.06.7236734 fax +39.06.7233098
www.jollyline.it

ne

41802JL20151228 MADE IN CHINA

by GBS




( ~
PLB-2642 PLUS
LCD/LED/PLASMA slim wall mount §

@ g

325mm

(1)Wall Plate with Arm-a (1)VESA 200 Plate-b

(2)Wall Plate Cover-c

(4)M4x12 Bolt-d

ey

gy

(4)M4x30 Bolt-e

(4)M6x20 Bolt-f (4)M6x35 Bolt-g (4)M8x20 Bolt-h

. &

(4)M8x35 Bolt-i

(4)M4 Washer-j

©
©

(4)M6 Washer-k

(7)M8 Washer-I

(0

(4)M4 Spacer-m

©

(8)M6/M8 Spacer-n

0

7

(3)Cushioned Nut-o  (3)Plastic Washer-p

e,

(3)M8x90 Lag Bolt-q

©

(1)M6 Wrench-s

(3)M10x80 Concrete

Anchor-r (2)VESAAdaptor-A

2

(8)M6x10 Bolt-B

(8)

7
©

M6 Washer-C (8)M6 Nut-D




